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1 1 0.12 843 3.61 40
2 2 0.24 844 3.61 40
3 3 0.36 845 3.61 40
4 4 0.48 846 3.70 41
5 5 0.59 847 3.70 41
6 6 0.71 848 5.23 58
7 7 0.83 849 5.23 58
8 8 0.95 850 5.23 58
9 9 1.07 851 13.07 145
10 10 1.19 852 13.07 145
11 11 1.31 853 13.53 150
12 12 1.43 854 13.53 150
13 13 1.54 855 13.53 150
14 14 1.66 856 17.22 191
15 15 1.78 857 17.67 196
16 16 1.90 858 17.94 199
17 17 2.02 859 17.94 199
18 18 2.14 860 17.94 199
19 19 2.26 861 24.08 267
20 20 2.38 862 24.53 272
21 21 2.49 863 24.71 274
22 22 2.61 864 24.71 274
23 23 2.73 865 24.71 274
24 24 2.85 866 26.33 292
25 25 2.97 867 27.59 306
26 26 3.09 868 27.68 307
27 27 3.21 869 27.68 307
28 28 3.33 870 27.68 307
29 29 3.44 871 29.31 325
30 30 3.56 872 30.30 336
31 31 3.68 873 30.57 339
32 32 3.80 874 30.57 339
33 33 3.92 875 30.57 339
34 34 4.04 876 31.92 354
35 35 4.16 877 32.28 358
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36 36 4.28 878 32.28 358
37 37 4.39 879 32.28 358
38 38 4.51 880 32.28 358
39 39 4.63 881 34.27 380
40 40 4.75 882 34.45 382
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